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int i, sum=0;
double average;
for (i=0; i<5; i++)

sum += scores[0][0][i][2];
average = sum/5.0;

int iclass, istudent, sum=0;
double average;
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average = sum/ (3.0*5.0);

for (iclass=0; iclass<3; iclass++)
for (istudent=0; istudent<5; istudent++)
sum += scores[1][iclass][istudent][1];
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int iyear, iclass, istudent, icourse;
for (icourse=0; icourse<3; icourse++)
for (iyear=0; iyear<2; iyear++)
for (iclass=0; iclass<2; iclass++) {
for (istudent=0; istudent<5; istudent++)
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printf(“%d = %d7"2 + Yosagi-t 14t %.2f\n", iyear, iclas
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int i, month, day, days[12]={...}, zodiacNames[12]={...};
o PP R month (e
if ((month-1<0)||(month-1>=12)) {
printf("Error using array days[%d] zodiacNames[%d]\n", month-1, month-1);
exit(1);

}
if (day>=days[month-1])
printf("%s\n", zodiacNames[month-1]);

else
printf("%s\n", zodiacNames[(month-2+12)%12]);
A E HiEZEmonth iﬂl B Jﬁ? » scanf("%d", &month);
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#include <assert.h>
int i, month, day, days[12]={...}, zodiacNames[12]={...};
o TS T month [t
assert((month-1>=0)&&(month-1<12));
if (day>=days[month-1])
printf("%s\n", zodiacNames[month-1]);
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